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ECONOMICS
( Major )
Paper : 1.1

( Microeconomics—I )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following::
e frpTyEd e o :

(a) Choose the correct option : 1x5=5
o7 Rl iR Sfered :

(i) The problem of ‘scarcity and choice’
mainly give rise to

RSl S T TR gdr o

el

1. problems of underdevelopment
TS I
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(2) : ‘ .

2. economic problems - : 2. in the st

3. non-economic problems 3. both in.

oA S long-run

4, None of the above . A T

ey die T : 4. None of t

() I the ‘indifference curve is a | e s
downward sloping straight line, it

means that the goods are .fiv) A linearly ho

fers awem | R W W ' . function depi

@, oo T F TR SRR S

1. perfect substitutes . 1. increasing

. 2, perfect complementaries . 2. decreasin

o TP

3. used in equal amount 3. constant :

4. Nope of the above 4. All of the'

fiid) F’i:_mdeostinfound i S w mep

ﬁwmm’mm‘ ) 7% T (AC) QY

1. in the long-run only 1 Ac'i'sm

: kL o5 T 2R
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(4)

2. AC is less than MC

o6 W ART ST T

3. AC is equal to MC

wmmﬁvwwvm

4. ACis double the MC
5 W 2ART I 18T
(b) What is Giffen good?
ﬁzwrwﬁ?-

© Mentmn .one. hmxtauon of indifference

curve analysm

Wﬁmmmmmﬂn

(d) Define sunk oost.
ﬁammnwmﬁm

(¢) What is production possibl.hty curve? 1

ool S8R 91 R 2

() What is cross elasticity of demand? 1

wirR e Rftmee 30

2. Answer the following questions :
TR T O o ;-

(a) What is static equilibrium? °

e e Ry

 A7/371

2x5=10

( Contirued )

(b) What is income effe
o Ret R 7

{c) Draw the Engel c
good.
A8 TR T qum

{d) . What is factor elastic
T el e

(e) What- are. the ‘ct
maximization in t
revenue-and margin

aRT wW W R
AT T A

3. Answer the following que

T R e o (R @
fa) Distinguish between
TR W R SReTreT

(b) Briefly explain the &
concept of consumer’

- A7/371 .
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(d

(e)

(6)

Why two indifference curves cannot
intersect? Explain.

Tor T @iz R Foeh eRI @
0 7|

Draw the TFC, TVC, AVC and AFC
curves.

P &, P RGN T, T RIS
[ @ 7T BT T Q1 oKFA TN

What are the different types of returns to
scale? Explain.

[few s T aifrerrg R R 2 v w1
Explain the relationship among AR, MR
and elasticity of demand.

TE o, AR uN uF TR RfweeeR
R R A |

4. Answer the following questions (any foun :
. 10x4=40

S RPTRA TT Fran (R e W) :

(@)

A7/371

Discuss some basic market models
indicating whether they work through
the market or interfere with the market.

TR AR IR WA (@ TR S0

R A ey g R Tl
oAl 1A

( Continued )

10

(7

(b) Discuss the .proper

()

(@)

(e)

AT7/371

curves with diagram:
foag e fww @

L

Discuss the 'derivaﬁo
from the price consu
T TS @R R o
W, SCEoAl ¥4 1

Discuss the procedu
Engel curve.

e A SRS 1w

Discuss critically th
proportions.
e we R
HICOAT 47 |

What is least cost com
Discuss how least cc
inputs is attained -
isoquants and isocost
O AT T
SR AR S R
TS F =, SCes F47 |



(8)

(g) Discuss the derivation of production
possibility curve from contract curves. 10
A @R | R S TRl S
Tferadn 2w, HCAG 7T |

(h) Discuss the nature of the short-run and
long-run average cost curves. Why is the
long-run average cost curve flatter than
the short-run average cost curve? 7+3=10
AR IF RN e W @R a4
S 4 | ZFFAR TS I @RISF T
S T @ R @R 7=

* ok &
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( Major )
Paper : 1.2
( Macroeconomics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
oo eppTEd e o
(a) What do you mean by ‘circular flow of
income’?
G DG AT WG 57

(b) Mention two problems faced in National
Income Accounting.

T =T R 01 2T ST SeEs #4901

A7/372 b ( Turn Over )



N E2)

(c) State Say’s law of _market.
= F=9 R Sy v

(d) What is the meann;é of the term
‘aggregate demand’?

e oA e B2

{e) What do you. mean by-‘paradox of thrift?
S 9T A R 2
(7 Define multiplier.

(@) . lee two objective - factors aﬁ‘ecung
" consumption function.

-%mﬂwmﬁmw@rmﬁtﬁm

T |
(W) -Write  the meaning of induced
. investment.
e RivwrR uy B

i) Define ‘marginal propensity to consume.
2SI AT I 4 ?

A7/372

( Continised ) |

1]

Define reverse ope

G POTERT SfeT

2. Answer the following

T PR T for

a) State Keynes' |

)

)

(d)

A7/372

consumption,

P TR B

Distinguish betwe
to -consume and 1
consume.

TS (oI 2T ¥

- ofiefam o= |

Mention two leaks
@ 5! s 1% 2

Give r.hé differenc
demand function
function.

S SR Fe IS
“qrefer fera |



(e)

(4)

Write briefly ‘about the importance of
investment . multiplier in an under-
developed economy.

s weAfe RN @R ISR 9rFe
vt B

3. Answer any four of the following questions :

&

(@)

)

(e

A7/372

5x4=20

R e wif{en ep e o

Define - persc;nal income, disposable
personal income and national income,
IS W, WA IR qN G =S
T e o o

How did Keynes’ criticize the classical
theory of employment?

e R wEfre Poaw ©gs e
e 7

Mention some important factors

determining the consumption pattern of
a society.

aﬂ_m%ﬂquﬁmlﬁv‘fﬁwm.

oz B &0

( Continued )

(5

{d) With the help of

(e)

differences  betwe
autonomous investn

foqq gwe, s
=g o

Distinguish between
of capital (MEC) anc
of investment (MEI).
T RS el o
“A1ef forr 1

. Write brief notes on

TS AR o o B
(i) Gross National
5 9B Beomm
(i} Net Naﬁnﬁa] Pre
Taagh 2@ Seerm

4. Answer any four of the foll

@ R R SR o B |

(a)

What are the methods
calculating national
merits and drawback

'mwmww

A7/372
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®)

‘WﬁWﬂwﬁﬁmﬂww

(c)

(@

e

" always lead to welfare? 10,

A7/372

(6)

Critically examine Keynes’ theory of
employment. 10

TR |

Discuss the subjective and objective
factors” - determining - consumption
function. Write briefly about the
relationship between the - marginal
propensity ‘to consume and the

investment multiplier. 6+4=10

Berzetst T PR Rafad omm e @R

TAMFPIR ST 0| ARE ot RS

wﬁmﬂewwwmm
frm

Explain the theory of accelefator What
are its limitations? 6+4=10]
W MR ol e w1 2 g
Rrrreryz B &1

Discuss the relationship between
national income and economic welfare.
Does an increase in national income

T W W wltefeE e we oo

S T B S IR S e
FEAFA?

( Continued

(7)

(i Explain the importanc
of the measurement c
Discuss the various
while calculating na
underdeveloped count

By wE AFEE @9 ©
e GdRfee T8 o
TN SPYRYTTR S

[

ok ke
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